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throughout the paper.
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NotgE:— The maximum marks printed on the question
paper are appiicable for the students of the SOL /
NCWEB [ Non-Formal Cell. These marks will,
however, be scaled down proportionately in
respect of the students of Regular Colleges
(Category ‘A’) at the time of posting of awards for
compilation of result.
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Attempt five questions in all, taking two questions
from Section A, two from Section B
and one from Section C. ‘ N

All questions carry equal marks,
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1. (a) Explain the relationship between connotation and
denotation of a term.

g & e qu EY F wR T e @i 10
(b) Explain traditional square of opposition.

o fadta g & sgren |ifST) 10

2. (a) Give the converse, obverse and contraposition of
the following:

(i) All successful persons are leaders.

(#1) Some men are not perfect.
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What do you understand by an Informal failacy?
Explain any two of them. ' ‘
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Test the .validity of the following argument forms:
frefafes qfs anell 91 duar 7 afw AT

() AAA-1 '

(i) EAA-1I

(i) OAI-IIT - .

(iv) OAO -1I | Ix4=12
Prove : If oﬁc of the premiscs is particular, the
conclusion must be particular.
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* Prove that IEO isinvalid in third figure.

4. (a)
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SeCTION B (WVUE @)

Define Sheffer’s stroke function.
P T O.



B8Y9S 4

ﬁnwﬁﬂmmqﬁmﬁaaﬁfﬁm ' 8

(b) If A, B, and C are true statements, and X, Y and Z
are false, determine the truth value of the
following:

’ aﬁABaﬁICwmﬁaﬁtxYﬁtzm
§ @ Fafafed & g ed Aaif@ S

@) [(AVB)DC].[(X.Y)V(AV Z)]

(i) [(ADO)C(X Y)D~[(~XVY)D(BV ~Z
ox2=12

5. Use truth table method to determine whether the
following are tautology, contingent or self- contradic-

tory:
_muﬁhﬁﬁfamwﬂmaﬂm%ﬁnﬁﬁaﬁﬁﬁq
T, TS I7 ST €
@) [p2(g2p)1Pl@2q)>~(2r)]
@) gVl VeIV
(i) [p3(q3f)]5[(P34)3(P3r)]- ' 6,68

6. (a) Using truth table method test the validity/
invalidity of the following:
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7. (@) What is the difference ﬁéhvccn de(-iﬁf:i.ilcl}ﬁ,;ténd
induction? .
s SR Fm ¥ T s 22 W At | 10
(b) Explain scientific induction.
AW AT A TE AN 10
8. (2) Explain Mill’s mctlr‘xod .Of Diff_ere_gce. o
e 9 arfits ol o smen AT 10
" (b) Explain the plurality of causes.
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